@ TARPING SYSTEMS & ACCESSORIES

INSTALLATION

INSTRUCTIONS

g

o e~———— BY:SHUR-CO°’

Truck Kit

READ BEFORE INSTALLING
PO BOX 713 = 2309 SHUR-LOK STREET = YANKTON, SD 57078-0713

PHONE 1-800-4-SHUR-LOK (1-800-474-8756) = FAX 605-665-0501
www.shurco.com

SHOP ONLINE: www.shopshurco.com



Lock Assembly Locations

P/N 1125271 Rev. B

ANCHOR BRACKET

ANCHOR BRACKET CONFIGURATIONS

6 7/8" 73/8

ITEM €D ON PAGE 5 ITEM €X» ON PAGE 5

ARM=MATIC™ & FLASH" ARMS BULLET™ ARMS

LOCK ASSEMBLY

BENT ARM
SHOWN W/LATCH OPENING

TOWARD REAR :I

ANCHOR BRACKET

3>

o

STRAIGHT ARM \
SHOWN W/LATCH OPENING
TOWARD FRONT

H

MOUNTING LOCATIONS FOR LOCK ASSEMBLIES |

NOTE: Lock assemblies are not driver/passenger side
specific; can be mounted on either side of box. Latch
openings can be positioned towards rear or front of box.

STEP 1: Close tarp so return arms and tarp crossover tube are
resting on rear of truck box. Position lock assembly as
close as possible to end of arm. Mount lock assembly
parallel to section of arm that lock assembly will lock
on to. Measure distances between desired mounting
locations for lock assemblies and center of each arm.
Distances may differ, as arms usually do not track
perfectly straight. If measurements are between 2"
and 3 1/2", built-in adjustment in brackets should
be adequate. If not, fabricate spacers or mounting
brackets to center arms with lock pin (keep this in
mind while determining mounting location).

LOCK MOUNTING SURFACE \

—~——g— 2" - 3 1/2"

STEP 2: Loosely install arm anchors on arms so anchors are
still moveable. Hold lock assembly up to box and
adjust arm anchor with lock assembly to find suitable
mounting location. Lock assembly must be close
enough to arm so sliding lock pin has about 1/4"
to 3/8" clearance above anchor catch. Determine if
mounting brackets or spacers need to be fabricated

to mount lock assembly as desired.

j}g;@% h=
O

ANCHOR L

ARM
ANCHOR

LOCKING PIN

—

L 1/4"

- 3/8"

LOCK ASSEMBLY

1 Shur-Co® HELP LINE: 1-866-748-7435



P/N 1125271 Rev. B

Lock Assemblies

NOTE: To ease installation, hang lock assembly from arm
anchor by latching assembly to arm anchor (lock pin can be
pulled open by hand).

STEP 3:

Install lock assemblies. Position anchor on arm in
desired location and tighten anchor bolts to secure.
Locate anchor catch 1/4" to 3/8" below lock pin on
lock assembly. Hold lock assembly in place and cen-
ter anchor as shown. If mounting lock assembly to
minimum of 1/8" thick steel or minimum of 3/16" thick
aluminum, mark center of slots on mounting bracket,
drill 5/16" holes and secure with 3/8" x 1" self-tapping

SCrews.

ANCHOR IN
OPENING

LOCK ASSEMBLY_

ANCHOR CATCH

NOTE: If needed, bolt through structure to ensure assembly
is mounted securely.

STEP 4:

STEP 5:

Slots in mounting brackets can be used to adjust for
pin clearance and move lock housing toward or away
from side of box to help center arm anchor. Center
anchors with lock pin and adjust lock assembly to
obtain at least 1/4" of clearance between lock pin and
anchor catch. Tighten adjustment nuts on mounting
bracket, then fully tighten self-tapping screws. Use
remaining mounting hole as guide to drill 5/16" hole
and fasten self-tapping screw through hole. Install
lock assembly on other side of box in same manner.

Make final adjustments to anchor assemblies. Pull
lock pin entirely open and push arm up and out of
latch opening. Make sure there is enough clearance
for anchor to come out without catching on lock pin
or either side of opening. Adjust anchor location as
necessary, then tighten anchor nuts securely.

NOTE: In most cases, best anchor position for optimal
clearance is slightly off center and toward rear of box.

Shur-Co® HELP LINE: 1-866-748-7435 2



Air Lines & Fittings

P/N 1125271 Rev. B

PNEUMATIC DIAGRAM/SCHEMATIC

4-WAY TOGGLE VALVE
EXHAUST PORTS

c1 PORT
\ /02 PORT

SUPPLIED SERVICE AIR
(FROM SOURCE IN CAB OR
DIRECTLY FROM TANK) \|

=

5/32" op pot
NYLON TUBING

TEE FITTING

/

Rt

PRESSURE PROTECTION VALVE
MUST BE USED IF CONNECTING
DIRECTLY TO AIR TANK

THIS END MUST POINT
DOWN WHEN INSTALLED

PRESSURE PROTECTION VALVE
CONNECTED TO AIR TANK W/ADAPTER

\ 5/32" op pot
NYLON TUBING

va

TEE FITTING

DOUBLE ACTING LOCK

ASSEMBLY CYLINDER

STEP 6: Fasten toggle valve/switch to existing mounting
bracket or panel in cab. Locate valve in cab within
easy reach of operator. If possible, mount close to
switch for tarp.

STEP 7: Install air system components as shown in pneumatic

diagram/schematic above. Locate two PTC tee fittings
atrear of truck and route two lines of tubing from each
cylinder to tee fittings. Connect lines from rod end of
each cylinder to one tee fitting and connect lines from
base end of each cylinder to other tee fitting. Run air
line from each tee fitting along frame and up to toggle
valve in cab.

NOTE: Kit uses 5/32" DOT-approved nylon tubing and DOT-
approved PTC fittings. Use sharp utility knife to cut tubing.
Cut square and burr free for good seal. Use assorted straight
PTC fittings and elbows as needed. Fittings for cylinders in
lock assemblies come pre-installed.

STEP 8: Route air from truck’s service air system to toggle
valve. This can be done by teeing into existing air
accessory inside cab (example: seat), tapping into
air accessory manifold inside cab (if applicable) or by
connecting directly to tank. If connecting directly to
tank, use pressure protection valve (provided) to keep

tank from dropping below 70 PSl in case of leakage.

NOTE: Adapter fitting for common air tank port is included in
kit for adapting protection valve to tank (additional or different
fittings may be required). If connecting to existing air line or
manifold inside cab, no pressure protection valve is needed,
as lines should already be pressure protected. For added
protection, valve may be installed between source and toggle
valve, if desired. Additional fittings not included in kit may be
needed. All PTC fittings come with pre-applied sealant, but
additional fittings or adapters require thread sealant to be
applied.

3 Shur-Co® HELP LINE: 1-866-748-7435



P/N 1125271 Rev. B

Air Lines & Fittings - continued

o =

LOCK ASSEMBLY

ROUTE AIR LINES
STEP 9:

Locate protected path at rear of truck to route air lines
from tees to lock assemblies.

TIP: Rear corner post on most dump bodies is good place to
route air line. Material thickness must be 3/16" or less to fit
included grommets.

« To run air line through corner post or tube, drill 3/8" holes and
install grommets (included) into holes to protect air lines.

« To run airline into lock assembly from backside, instead of us-
ing existing holes in housing, drill hole through backside of
housing. Be sure airline will not interfere with lock pin.

* Remove cover to route air line into lock assembly. Run both
air lines through grommets at bottom or backside of housing
for new drilled holes, then loop air line inside housing. Con-
nect to fittings on cylinder and reinstall cover.

LOOP AIR LINE
INSIDE HOUSING

| TEST OPERATION
« Start truck engine to bring air system to operating pressure.

* Flip toggle valve ON to pressurize piston end of cylinders and
open locks while letting exhaust flow out rod side of cylinder.

* Flip toggle OFF to pressurize rod end of cylinder and push lock
closed while letting exhaust flow out piston end of cylinder.

NOTE: Make sure locks are operating correctly. While system
is pressurized, check for leaks.

* Run tarp system open and closed several times to make sure
arm anchors are correctly aligned with lock assemblies. Ad-
just as needed.

NOTE: Lock pins will allow tarp to be back wound (tightened)
to take slack out of tarp and reduce wind whip.

+ After lock pins have closed, push button to open tarp. Anchors
will pull up against lock pins, allowing tarp to be tightened.
Tighten lock pins just enough to take slack out of tarp.

NOTE: Do not press button long enough to stall motor, which
would apply heavy torque to system. Locks will not be damaged,

but tarp system components could eventually be harmed.

« Before flipping toggle to open locks, run tarp motor in closed
direction, just enough to remove tension from tarp.

Shur-Co® HELP LINE: 1-866-748-7435 4



Replacement Parts PIN 1125271 Rev. B

ltem Part # Description

1125251  Arm-Lok™ Assembly - Driver Side
1125261 Arm-Lok™ Assembly - Passenger Side

1. 1125256 Arm-Lok™ Pin
2. 1701543 Nylon Lock Nut - 1/4"
3. 1125260 Cylinder Rod Clevis
4, 1705599 Cap Screw - 1/4" x 1 1/4" GR5
5. 1705598 Jam Nut - 5/16" Iltem Part#  Description
6. 1700402 Self-Tapping Screw - 1/4" x 1/2" 18. 1705595 Carriage Bolt - 5/16" x 2" ZP - GR5
7. 1704945 Flanged Nylon Lock Nut - 3/8" 19. 1705596 Carriage Bolt - 5/16" x 3" ZP - GR5
8. 1125257 Lock Cylinder Mount Plate 20. 1125270  Anchor Bracket (Arm-Matic™ & Flash™ Arms)
9. 1125259 Lock Housing Mount Bracket 21. 1125989  Anchor Bracket (Bullet™)
10. 1125252  Arm-Lok™ Housing - Driver Side 22. 1125274  Anchor Catch Sleeve
1125262 Arm-Lok™ Housing - Passenger Side 23. 1700419  Nylon Lock Nut - 5/16"
11. 1705597 Carriage Bolt - 1/4" x 3/4" - ZP - GR5 24, 1705586 Toggle Valve
12. 1705051 Carriage Bolt - 3/8" x 1" - ZP - GR5 25. 1705589  Air Fitting - 5/32" PTC x 1/8 NPTM - DOT
13. 1125258 Lock Housing Mount Bracket - Driver Side 26. 1705591 Hex Bushing Adapter - 3/8" NPTM x 1/8" NPTF
1125266 Lock Housing Mount Bracket - Passenger Side 27. 1705588  Air Fitting - Union Tee - 5/32" PTC - DOT
14. 1705600  Air Cylinder - Double Acting 28. 1705593 Hex Nipple Adapter - 3/8" NPTM x 3/8" NPTM
15. 1705590 Air Fitting - 90° SW - 5/32" PTC x 1/8" NPTM - DOT 29. 1705587 Pressure Protection Valve - 70 PSI
16. 1705594  Rubber Grommet - 3/16" x 5/8" 30. 1705585  Air Brake Tubing - Nylon DOT - 5/32" - Black
17. 1125255 Arm-Lok™ Housing Cover - Driver Side 31. 1125267 Valve Mount Bracket
1125265 Arm-Lok™ Housing Cover - Passenger Side 32. 1700400 Self-Tapping Screw - 3/8" x 1"

5 Shur-Co® HELP LINE: 1-866-748-7435



PIN 1125271 Rev. B Notes

Shur-Co® HELP LINE: 1-866-748-7435 6



MORE QUALITY PRODUCTS FROM SHUR-CO®

»* Genuine Replacement Tarps = Construction Products
» Genuine Replacement Parts - Super Duty Shur-Lok®
- Shur-Trak II™
» Agriculture Products - Cover-Pro 1I®
- Value Series Shur-Lok® - Turning Point™ Bow
- Super Duty Shur-Lok® - IronSide™ Side-Dump System
- Shur-Lok® Junior - Arm-Matic™
- Premium Belt 'n Ratchet - DuraPull™
- Cable-Lok™ - Econo-Pull™
- Turning Point™ Bow - Turbo Tarp2™
- 2000 Series
» SMARTrailer™ Accessories - 5000 Series
for Agriculture Products - Hammer™
- SMART2™ Remote - Bullet™
- SMART1 +™ Remote - Flash™
- 4500 Series HD Electric - Long Arm™
- Electric Shur-Lok®
- AutoTrap™ Hopper Opener = SMARTrailer™ Accessories
- ProTrap® Hopper Opener for Construction Products
- Electric Gate & Hoist - 4500 Series HD Electric w/Gate Flex™
- LiteALL™ Work Lights - Shur-Trak II"™ Electric Upgrade
- Cable-Lok™ Electric Upgrade - Cover-Pro II® Electric Upgrade
- Electric Turning Point™ Bow - Electric Turning Point™ Bow
- Solar Power Pack - Solar Power Pack
» Flatbed Products = Waste Products
- ShurTite™ Retractable Tarps - The Ox™
- Stock Lumber & Steel Tarps - Quick-Flip 1I1™
- Sidewinder™
* Custom Products - Sidewinder™ 350
- Fitted Tr}lck Covers - HyTower™ SL
- Flat Utility Tarps - HyTower™ DL
- Bean Drill Covers _ Double-Flip™

- Shur-Lok® Tarp Cords
- Gustbuster™ Tarp Cords

TARPING SYSTEMS & ACCESSORIES @



